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109. Ifa:b=3:7and b:c=7:6, then Find the ratio between ¢ and a

Aa 1:2 B) 3:6
C 6:7 @ 2:1
(E) Answer not known
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110. The ratio of two numbers is 3 : 4 and H.C.F is 4. Their L.C.M. is

@ 48, ' (B) 38
(C) 58 (D) 68

(E) Answer not known
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111. A number x is divisible by 13. When this number is divided by
16, 24, 32 it leaves a remainder 6 in each case. The least value of

xis R _
@ 390 ®) 301
(C) 389 (D) 392

- (E) Answer not known
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121. If the HCF of 108 and 234 is expressible of the form 23x -51 then

what is the value of x?

& 3 (B) 2

© 4 D 5
(E) Answer not known
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122. Find the HCF of the polynomizﬂs x+x?-x +2 - and

8 o
9x” —5x% +5x —3.

@ x?-x+1 B) xZ+x-1

(C) -T2 +T7x-T ' (D) 7x*-Tx+7
(E) Answer not known ‘
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133. There are 80 students in a class. If 25% are absent on a particular
day. Find the number of students present in the class.

@ 10 @ e
© 30 ) 25

(E) Answer not known
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134. The ratio of boys and girls in a class is 5 : 3. If 16% of boys and
8% of girls failed in an examination, then find the percentage of
passed students.

@ s1% (B 13%
© 8a% ) 92%

(E) Answer not known
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145. The missing term in the given alpha-numeric series is

2X2,7T4,14 P12, 23 L 48,

@ saH200 (B) 34 H 144
(C) 30 H 100 (D) 30H 120

(E) Answer not known
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146. Two unbiased dice are rolled once. Find the probability of getting
the product of face value is 4 or the difference of the face value i1s 5.

1 5
Ky 5
(‘) 12 A @ 36
1 7
c - L
© 3 D) 2=
(E) Answer not known
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158. P and Q can do a piece of work in 20 days and 40 days respectively.
Trey started the work together and Q left after some days of work
and P finished the remaining work in 8 days. After how many days

from the start did Q leave?

(a) 9days

(D) 11 days ’ , |

(E) Answef not known
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159. Find the sum of
1+3+5+---+ 55

A) 700 @® 784
(C) 555 (D) 550

(E) Answer not known
Asm_flen smpo®. srawns.
1+3+5+---+ 55
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160. The next term in the given sequence is
0, 2, 24, 252, 3120,

(A) 42450 @ 6650.
(C) 38450 | (D) 44650

(E) Answer not known
&Gy Gsnpssuu Garer AsrLi aflesde umbd Sihss 2.puy
0, 2, 24, 252, 3120, _
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161. In the series
6412287421538

how many pairs of successive numbers have a difference of 2 each?

One ' (B) Two
Three (D) Four
) ZAnswer not known :
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170. The reading in a field book are as given below

B
©

To C
(in meters)
150
20 to D — 120
80 — 50to B
30to E — 50
_ From A
The area of the fieldis ... - .
7550 m2
5750 m2z
5650 m2 .

D)
(E)

An'swer not known
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171. D, F, G, H, I and M are sit‘ting in a row. I and M are in the centfe,
and F and D are at .the. beginning and at the end. G is sitting on the
left of D. Then who is sitting on the right of F?

@ n. 1

© ™ gg; G

(E) Answer not known
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172. If A =26, SUN =27, then CAT =?

24 B) 27

57 58
(E) Answer not known ©

A=26,SUN =27, aaflo CAT =7

‘§$ Y - (B) 27
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173. If a# b #c is given, which one of the followiﬁg 1s correct?

(A bzaze
B) a,b,c are distinct

a=b=c¢
a#Ecora=c
1ISwer not Known

azb#tc aas AsrRsstut nmhsrd Geraumearaipmer ergs 512

(A) bzazc
B)  a,b,¢ gHuwa QarcuCGaupranepey -

a=bh=¢ - o
@ a#¢ o5 a=c
eflen Qpfualdera |

O F b4 € owhd

a lods
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b Soedeo
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184. Divide Rs. 2,602 between A and B, so that the amount of A at the
end of 6 years is equal to the amount of B at the end of 8 years,
compound interest being at 4% per annum.

(A)' Rs. 1,300, Rs. 1,252 (B) Rs. 1,452, Rs. 1,150
(C) Rs. 1,302, Rs. 1,300 @ Rs. 1,352, Rs. 1,250
(E) Answer not known '

HTHES 4% &L@QJL.&}&QQ) 6 Q}@L&&G’ﬂﬁ) A 55 S sEd Ggresunens
8 Q@Lhisalo B én ana)ss@# swwWIs QWmEGL  aefld o 2,602¢

A wppid Ber u:ﬁs@&d’r ;
A) . 1,300, @. 1,252 - B) . 1,452, ¢5. 1,150
© @ 1,302, @ 1,300 @ . 1,352, t5. 1,250

(E) ofeor Ggﬁmﬁamm

A= Bz2602 %X 616
n=b | ..fl:;g 30l
T A . 'D.“EH'/.
|0
xx(—%”) (’l"”“x) ( °
2.5
26
oy P
A N Sl T 4
ya Z@/GOL '> ‘5 )/g_/g

bocy = 2602 Ab76 et

3012 :,2:651;( 616
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185. Find the simple interest on Rs. 68,000 at 16—;—% per annum for

9 months. |
@ Rs. 8,500 (B) Rs. 8,000
(©) Rs. 9,400 D) Rs. 9,100

(E) Answer not known

@ 68,0005 9 wrsmsEpss 16—2% G wly Adssde sefl ey

SHeRTSH o v
©) @ 9400 (D) @. 9,100

(E) el QsAuicidame

' T )
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186. g dice is thrown four times and its four different positions are given
elow

glians)

Find the number on the face opposite the face shomng 2.

@ 4 B 5
) 6 i D)3
(E) Answer not known
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187. Find the missing term of the sequence :
7,12, 19, 24, 43, 91

ég 50 (B) 45
48 (D) 63

(E) Answer not known '

At cuflensulehr 2 arar AGUCL ararmens srers.

7,12, 19, 24, 43, s 91
A) 50 B) 45

48 o D) 63
) e Asfucldme =

— \9 ZV W5 g q)

/

\/\/\/ VAV,

19 +5 Th3
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197. Simplify : (472 +472+4%) ' x(@ 1 +472 4473,

63 19
@) 19 : ® 83

64
© z . o
64 21

"~ (BE) Answer not known

F(H&GE: (4 +47 +4"3)0 x{4"1+4'°+4"3)l.
63 ‘ e - 19

19 (B)'é's‘,'

©& ® &
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198. The average mark of 25 students was found to be 78.4. Later on, it
was found that score of 96 was misread as 69. Find the correct mean
of the marks. ‘

@ 7732 (@ 79.48
© 7842 (D) 78.24

(E}- Answcr net known

25 wremeuiseflar syref wHUQuar 78.4. @me 96 eap wHLuTag
69 erens BUPFOTE aRsstuiLg s HuLuLLg arefied,
wHuQuensesster sflwrer syreflews srens.

(A) 7732 .- 79.48 d

(C) 178.42 o (D) 78.24
(B)  oflent ngsﬂmeﬁ]é)mw '

DF B & |
3_)65\\&\05’5“5”‘9\ i qﬁ@h&mﬁ b
N o2 +ad
AN, TN 2% 1

= ey ¥ )-03

:> :}‘q° Ueg
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- 199. A person distributes his pens among four friends A, B, C and D in

thg ratio %i-zl)— —é— then the minimum number of pen§ that the
person should have is
@A) 23 - ® 55

57 (D) 65

—

(E) Answer not kuown

SO paT@OLL prenE g_r,smul'r&a? A, B, C mg;gnw D gdweise serg

Gumn&&mm -g—-;: —;— %3- cgg@w cﬁhﬁgtﬁmaﬂm AHCuHsHpri eraflldr e
- @asdmés (Bass&rq.m Gumrr&asaﬁs&r GOPHIULE cra‘amsuﬁ&m& ‘
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© 52/ D) 65
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20 AT \ 2 e s
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200. If the ratios formed using the numbers 2, 5, x, 20 are in the same
order of proportion, then the value of x is

(A) 50 (B) 10

@8, - D) 4

(E) Answer not known
2, 5, x, 20 odu aevsmar <iGs aflestd uuaTuHESH @YD
Adstisar fiflg swbns B@oen, ‘x’ e iy
A) 50 ’ (B) 10 -
8., = 4, T D) 4

—

(E) fer @grﬁtuéﬁid)wgo '
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